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��
�����%
���%���
�,�
-%������ 30 ��.�.  

������������ ��.�.2558-
��.�. 2558  

��.�.2557-
��.�. 2557  

�9������9�� % 
�9������9�� 

���;%$�����!����������� 785.75 770.86 14.89 1.9% 

���;%���� 11.02 9.19 1.83 19.9% 

�������� 796.77 780.05 16.72 2.1% 

6��-�!����������� 711.68 688.53 23.15 3.4% 

��G?$��G����!�� 19.10 18.12 0.98 5.4% 

��G?$��G�������
��  24.51 24.17 0.34 1.4% 

���������� 755.29 730.82 24.47 3.4% 

������������ !"����#$%&�'!�()��� 41.48 49.23 -7.75 -15.7% 

��G?$������������ -4.86 -4.13 -0.73 17.7% 


��������;�$���������-�G����<����� 0.27 0.12 0.15 125.0% 

H�<�����;%��6��-��� -7.53 -9.11 1.58 -17.3% 

�����+,-.)� /��+�/�+��0�1 (�� 29.36 36.11 -6.75 -18.7% 

��������;�!��34��
��;%�
�����;��������$
����-�!�����<����� -5.74 -4.07 -1.67 41.0% 

�����+,-.)+��-!2�3�5�(6789�0,� �)'1-�0: 23.62 32.04 -8.42 -26.3% 

 
 
1.  6$��������)�(�� 
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-%������ 30 ��2-���� 2558 ���<��������<����������;�
-���G�
��
!��342��
-����<��G
I$����� 23.62  ������ �%�� 8.42 ������
����%������� 26.3 3�9��������G���%

���%���9$$-����%��������9������������?���%������!��9���
�� 
��
6-
���$��
H�7�:�<@��$��%���=%�
34���=H��������%��������G?$���7���34���=H����������������������������;����������:�<@��$���

2�����.H����� ���;%H����<6�������6�6��� ��� ���
����
���������L��L�6�������6�����?���6��!��
�:�<@��$���L������$��!.�����:�<@��$9����:�4��
����I����M ���� 

��@N I��9-� ����-=�9�>���O�6��;��6>���� 
����6�������,�H��G����6��9����:�����������
�3�G
��%�����3��6H���-6
�
�����������4G���%�����6��� 
��,�G���-�
�������3��6�7���!��G�9����:���
���� ;���$��9���-������6 �������G?;OO� ��� �-6
�
����
����M ���;%���3���������
�3�6�������;9������3��66��M6���� LT�����<��������<������>;%���3������
%�������?���� =%�G�
��!�����;�!�,�6�������;�
-������?���6��$������%%��6����;�LT���9�3�$������!�!��
����-����!T,�������6���������7�������-�6��-�!��343��66��M 9�����������!��G�?�������
�LT������6��
���;�!�,�6�6������ G�!.����
H����:�<@��$=%�������?���6�������������%���.=%�����;9���6��6�%6��

H������O�6��!��H����:�<@��$;��G���T��9
��� 2558 

 
        ���$����,���<��������<��������;%����4
��������;�!��34��
��;%�
�����;��������$����-�!�����<��

����9����$��$�����  5.74 ������ =%��7���!T,� 1.67 ������$����%�%������!��9���
�� $��3�
9�����������%�!T,�!�����<��������343��6��;��
��G��-6
�
���������6 
 

 
      1.1 �����  
 
              ���;%
��
�����%
���%��� 
�,�
-%������ 30 ��2-���� 2558 ���<��������<����������;%$�����!��
���������$����� 785.75 ������ �9��������������%�%������!��9�����������;%$�����!�����������$����� 
770.86 ������ �7���!T,���>����G���6������� 1.9 ��,���,�,��
���!��=%����!��
������-�6��M�7���!T,�$����%
�����%���!��9���$������7�����!��G�?�����!��6��M�7������<���%!��=%����G�?�����
H�����%���
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����:�<@��$����� G�!.���������U�����%��G�������-���-�
����6������6��%=��!����62-%������%��G�
��
���9$��
H����:�<@��$=��������;�O�6��  

 
��,���,��%!��
��G
I!�����<�����
�G
���$����%!����-�
����9���H� ����%� ��4������� 

G�!.������%!��������<��������<������%��$��9���%!�����
��G
I��$����-�
�����
6���
 
 
 

 1.2 ������92�  
 

���;%���� ;%�� ���;%$��%�����,���� ���;�$�����!�����7�
�� ���;%$�����!���:<�
�>� 
��
���
��%
���%���
�,�
-%������ 30 ��2-���� 2558 $����� 11.02 ������ ��%�9���6���7���!T,������ 19.9 $����%
�%������!��9 =%����;%�������
����I ��� ���;%$�����!���:<�
�>� LT���������$�����������<��������<��������
��62-%��9���H��3��
6���
��%��>�?��%��� �3� ����2� ��3������������9��496��M 6�����
���!���4��� 
�?� ���6�%6���������� ��� 6������4������
�% ������:<����
���$������9��49%������ =%����<��������<��
�������:<����
���%������;9$��
��� �������T���I?��9����;%���� 

 
 

 1.3 ;�-,�5��  
 
6��-�!��
��G
I!�����<��������<�������$��6��-�
����9���H�
�6���
��%��>� ����%� 

��4������� ����
���� 
����
� ?��%��� �3� ������7�� LT��������<��������<�����;%$�%
���,�
����>$�497���
$��
��� �����62-%���7���������9��49�9�
����9���H�6��M�7���$��
��� =%�G���%
���%���
�,�
-%������ 30 
��2-���� 2558 ���<��������<�������6��-�!��$����� 711.68 ������ 
�����%�9�
�%
������� 89.32 !��
���;%��� �9�����������%
���%���
�,�
-%������ 30 ��2-���� 2557 �����6��-�!��$����� 688.53 ������ 
�����%
�9�
�%
������� 88.27 !�����;%��� ���<��������<�������6��-�!������7���!T,�G���6������� 3.4 �����
�9��������������%�%������!��9��� =%���
��
6-
���$������%%��G�?��H����:�<@��$�����6����;�$�����
�!�!��������6��������!���4��� 9�����������!��G�?���������M�������6�����;����6������ 

 
 

1.4 ������������5�� 
 

��G?$��G����!��������
�����
����I9�����%����G?$��7������!�� ��!�
� ��G?$��G����
��
���
���!�� =%���%
���%��� 
�,�
-%������ 30 ��2-���� 2558 ���<��������<���������G?$��G����!�� $����� 
19.10 ������ �9��������������%�%������!��9����������G?$��G����!��$����� 18.12 ������ �7���!T,� 
0.98 ������
�����%�9���6���7���!T,���>��������� 5.4 ��,���,������$��G���%
���%������!��99$$-������<��
������<�����;%
�����
��,
�
��$-�
4I�7����6��$����� 1.40 ������ G�!.�������<��������<�����;%����-�
��G?$��G����!�� 
 
 

1.5 ������������ �)0�� 
 
��G?$��G�������
�����
����I9�����%����G?$��34���
�� ��� ��G?$��7�������3��6��M

����
���$��"��!�� ���?�
�������� ��� ��G?$��G�������
��$�%���6��M =%���%
���%��� 
�,�
-%������ 30 
��2-���� 2558 ���<��������<���������G?$��G�������
�� $����� 24.51 ������ �9��������������%�%������
!��9����������G?$��G�������
��$����� 24.17 ������ 
�����%�9���6���7���!T,���>��������� 1.4  

 
         ��,���,��G?$�����
����IG�������
���9���G?$��%���-���6��9�6�9��$��9!���$�
������3��6��M 

��� ��G?$������MG�%��������
�� ��%�9�
�%
����G?$��G�������
��6����;%���
��
�����%9��$��9 
�,�
-%
������ 30 ��2-���� 2558 ����������� 3.08 �7���!T,���>����������9��������������%�%������!��9������
�%
��
��G?$��G�������
��6����;%��� ��%�9�
�%
������� 3.10 

 
 

1.6     +��# (���������()�$(-,��� �)'1-��� 
 

G��%��� ��<��� 2552 ���<��;%���-�G�
-�
���I!�����<�� =���� =�
���$ (9����:;��) $����%LT����

������9�34G
������%�����6��%������!�������<��������<�����6��%$�2T����<��34������-� =%�������
���-�G�
-�
���IG�
�%
������� 49  ���G���%
���%��� 
�,�
-%������ 30 ��2-���� 2558 ���<������4
�����
���;�G�������������6������
��;%�
��$����� 0.27 ������ �7���!T,�$����� 0.15 ������
����7���!T,������ 
125.0 ������9������������?���%������!��9���
�� 
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 1.7 ����� (5��-,�) ������� !"����#$%&�'!�()��� #$%����� (5��-,�) +,-.) 

 
G���%
���%��� 
�,�
-%������ 30 ��2-���� 2558 ���<��������<�������3����;�$�����%������������

%�����,�$�����H�<�����;%$����� 41.48 �����������
��6��-�����������$����� 4.86 ������ ���H�<�����;%
$����� 7.53 ������ ��� ���
��������;�$���������-�G����<�����$����� 0.27 ������ 
�3�G
���<�����
���<�������3����;�
-�����>%�
�>$
��
�����% 29.36 ������ �%��������9��������������%�%������!��9��������
���;����%�����,�$�����H�<�����;%$����� 49.23 ������ ��������;�
-�����>%�
�>$ 36.11 ������ =%����;�
���%�����,�$�����H�<�����;% ���;�
-�����>%�
�>$
��
�����%9���6���%������� 15.7 ��� 18.7 6�����%��  
 
              ����;��>6�� 
��
�����%
���%���9$$-��� ���<����
��������;�
��
���34��
��;%�
�����;��������$
����-�!�����<�����$����� 5.74 ������=%��7���!T,�$��$����� 4.07 ������$����%�%���!��9��� 
�3�
G
���<�������;�
-���G�
��!��342��
-����<��G
I
��
�����%
���%���
�,�
-%������ 30 ��2-���� 2558 $����� 
23.62 ������ =%��%��$��$����� 32.04 ������G���%�%���!��9��� 
 

 
1.8 &�'!�()����);) ,��$ 

 
                 G���%9��$��9
�,�
-%������ 30 ��2-���� 2558 ���<��������<����� ��H�<�����;%$��3����;�$�����
%���������$����� 7.53 ������ 
�����%�9���6���%������� 17.3 �%��������9������������9���
��LT����H�<�
����;%��6��-���$����� 9.11 ������ ��,���,��
��
6-
���������$�����;�$�����%�������������%�� 
  

 
1.9 +��# (�����5�(67�!+�����+!�-!2���!�������� �,�5�( �)'1-��� 

 
����������� 1 6-���� 2553 ���<��G
I�����!���������-����<�����G
��7�����6��-���$$��I��9-� 

Mory Industrial Inc, $T����������4
��������;�!��342��
-�
�����G����<�����$��3����;�
-���G����<�����
6��
�%
�����2��
-� 
��
�����%
���%���
�,�
-% . ������ 30 ��2-���� 2558 
��������;�
��
���34��
��;%�
�����
;��������$G����<����� �9�$��������� 5.74 ������=%��7���!T,�$��$��������� 4.07 ������G���%�%������
!��9���
�� 
 
 
 1.10  ����+����8�����-������� 
 

���<��������<���������6�����;�!�,�6�
��
�����%
���%���
�,�
-%������ 30 ��2-���� 2558 ���������
�� 9.43 �%��=%��9��������������%�%������!��9����������6�����;�!�,�6������ 10.68 =%���
��
6-
���$��
����%%��G�?��H����:�<@��$�����$������!�!��������6����!���4��� 9�����������!��G�?���������M
�������6�����;����6������ 
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(
��� : ������) 
 

 
  
 

 
 

 
 
 

( ����()���� 
> �1�-!2 30 �)8,���� 

2558  > �1�-!2 31 �!���� 2558  
    �������()� % �������()� % 
+)�-�1?�     
+)�-�1?�0�,���!��     
  ����
%���������������������
% 105.43 4.45% 134.81 5.63% 
 �������-�?������� - - 20.03  0.83% 
  �4�
��,���������4�
��,����  727.61  30.73%  778.52  32.50% 
  
�������
��� - 
-��� 895.62  37.82% 823.80  34.39% 
  
�����7�
�-���������� 8.92  0.38% 7.90  0.33% 
  ���+)�-�1?�0�,���!��   1,737.58  73.38%  1,765.06  73.68% 
+)�-�1?���0�,���!��     
 �������-�G����<�����  8.40  0.36%  8.13 0.34%  
 �������-�������� 3.19  0.13% 3.08  0.13% 
  ���%�� ���������-9��. – 
-��� 546.11  23.06% 545.46  22.77% 
  
�����7�;���6��6� – 
-���  0.53  0.02%  0.57  0.02% 
  ����"��
2�����������LT����!�$����%G����G?  46.00  1.94%  46.00  1.92% 
 
�����7�H�<�����;%�����6�%��I?�  19.84  0.84%  18.67  0.78% 
  
�����7�;�
�-����������  6.42  0.27%  8.53  0.36% 
         ���+)�-�1?���0�,���!��  630.49  26.62%  630.44  26.32% 
���+)�-�1?�  2,368.07 100.00%  2,395.50 100.00% 
0�!"+)�#$%+��5�(6789�0,�     
0�!"+)�0�,���!��     
  ��������������I?���������4�������
�,�$��
2����������� 325.06 13.73%  378.85  15.82% 
  �$�
��,���������$�
��,����  451.27  19.05%  435.81  18.19% 

  
�$�
��,6��
�II��?��������������2T����
�%?����H��G�

�T��9  4.70  0.20%  4.85  0.20% 

  H�<�����;%��6��-������$��  23.89  1.01%  15.54  0.65% 
  
��,
��
�-����������  8.54  0.36%  12.91  0.54% 
   ���0�!"+)�0�,���!��  813.46  34.35%  847.96  35.40% 
0�!"+)���0�,���!��     
 �$�
��,6��
�II��?�����������  3.83  0.16%  4.65 0.19%  
  
�����3�9��=�?��������!��7������ 23.17  0.98% 22.66  0.95% 
        ���0�!"+)���0�,���!��   27.00  1.14%  27.31  1.14% 
���0�!"+)�  840.46  35.49%  875.27  36.54% 
+��5�(6789�0,�     

  
�-������
-� 

383.00  383.00  �-�$%������� 
  �-���������������?������� 383.00 16.17% 383.00 15.99% 
     
�������4���
-� 519.67 21.94% 519.67 21.69% 
  ���;�
�
�     
  $�%
�����-
�����6���e
��� 57.71 2.44% 57.71 2.41% 
     
��!��342��
-����<��  390.63  16.50%  366.91  15.32% 

  
    
��!��34��
��;%�
�����;��������$����-�!�����<�� 
    ��� 176.60  7.46% 192.94  8.05% 

���+��5�(6789�0,�  1,527.61  64.51%  1,520.23  63.46% 
���0�!"+)�#$%+��5�(6789�0,� 2,368.07  100.00%  2,395.50 100.00% 
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2. B��%-�(����()� 

 
2.1  +)�-�1?� 

 
 
��
����4������7�
��
�,�
-% . ������ 30 ��2-���� ��� 31 ������ 2558 ���<��������<�������

�����7����$����� 2,368.07 ������ ��� 2,395.50 ������ 6�����%�� ���7�
���%��$����� 27.43 ���
��� =%�
��G
I�9�����%��!������
%���
��� ���<��������<�����%�������-���$
���%������9��49
�6���

������������$�LT��9�����%�����$�%
� �9��49 3��6 ���$��
���3��6H�.f
�6���
 ��� ���<��������

�T���9�34$�%
����$��
���=�
�����=�
�
����>$�49 %����,� 
�����7����
����I
��G
I$���4G��49
�������
��� 
�4�
��,����� ������%�� ����� ����-9��. =%������������%%����, 
 
 2.1.1  
�������
��� . ������ 30 ��2-���� ��� 31 ������ 2558 ���<��������<�������
����
���
���-
-��� $����� 895.62 ������ (
�%
������� 37.82 !��
�����7����) ���$����� 823.80 ������ 
(
�%
������� 34.39 !��
�����7����) 
�������
���G����9$$-����7���!T,�$����62-%��
���9���H���4������� 
����%� ��� ����M �7����6�������!��G�����6�;9 
 
 2.1.2 �4�
��,���������4�
��,���� . ������ 30 ��2-���� ��� 31 ������ 2558 ���<��������<�������
�4�
��,���������4�
��,���� $����� 727.61 ������ (
�%
������� 30.73 !��
�����7����) ���$����� 778.52 
������ (
�%
������� 32.50 !��
�����7����) 6�����%�� �4�
��,������%��$��������$����%!��G����
��
�%���9$$-���LT��9�6�$�6��������%!��;6���
����M 
 
              2.1.3   ���%�� ����� ����-9��. ;%�� ���%�����
��9���9�-����%�� ��������
���6�%6�,� �������$��� 
����-9��. �������6��6�����-9��.
�������� ���7�
�� ��������
�����
��� =%� . ������ 30 ��2-���� 
��� 31 ������ 2558 ���<��������<����������%�� ����� ����-9��. - 
-��� $����� 546.11 ������ (
�%
��
����� 23.06 !��
�����7����) ���$����� 545.46 ������ (
�%
������� 22.77 !��
�����7����) 
6�����%�� ��,���,G���
���9 ��������-�9���9�-��������$��������������7���G
9��
����H�7������������%�!T,� 
 
             2.1.4   ����"��
2�����������LT����!�$����%G����G? . ������ 30 ��2-���� ��� 31 ������ 2558 $����� 
46.00 ������ (
�%
������� 1.94 ��� ����� 1.92 !��
�����7����6�����%��) =%��9�����"��G�
2����
�������!�����<��������
�T���7����9�
���9�����
��
����������4$��
2����������� 
 
             2.1.5   ���7�
��H�<�����;%�����6�%��I?� . ������ 30 ��2-���� ��� 31 ������ 2558 $����� 19.84 
������ ��� $����� 18.67 ������ (
�%
������� 0.84 ��� ����� 0.78 !��
�����7����6�����%��)  
 
  

2.2 0�!"+)� 
  
 
��,
�����!�����<��������<����� . . ������ 30 ��2-���� ��� 31 ������ 2558 ��$����� 840.46 
������ ��� 875.27 ������ 6�����%�� =%�������%��!��
��,
�����
����I ;%�� ���?������������4�������
�,�
$��
2�����������������=%�����
%$�����%���������������
���  
 

 
2.3  +��5�(6789�0,� 

 
 . ������ 30 ��2-���� 2558 
��!��342��
-�$��������������$����� 1,527.61 ������ �7���!T,�$��
��

!��342��
-� . ������ 31 ������ 2558 $����� 1,520.23 ������ 
��
6-
����I������$��3����;�
-���$����� 
29.36 ������ 2T�����$������$������9�3����$����� 22.08 ������
��
���342��
-�
�����G����<����� 
��,���,
��!��342��
-�
��������4������
���$����� 176.60 ������$�����
�����;�����4���
-��-�!��342��

-�
�����G����<�����  
 
         %��
�%
��
��,
��6�
��!��342��
-� . ������ 30 ��2-���� ��� 31 ������ 2558 ������ 0.55 ��� ��� 

0.58 ��� 6�����%�� =%��%��������$�����?������������4�������
�,�$��
2����������� 
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(
��� : ������) 
 

���$%��!�� > 30 �).�.2558 > 30 �).�.2557 

����
����
%
-���$�� (G?;9G�) ��$����%��������� 48.22 62.30 
����
����
%
-���G?;9G���$�������-� -0.82 -22.15 
����
����
%
-���$�� (G?;9G�) ��$����$�%
����� -76.84 -27.97 
3������$������9������9��!����6������9����������6�
����
%���������������������
% 0.06 0.04 
����
����
%
-����7���!T,� (�%��) 
-��� -29.38 12.22 

 
 
 

3. ��%#+�()�+� 
 
       ��%
���%��� . ������ 30 ��2-���� 2558 ���<��������<�����������
����
%
-���;%��$����$����

%��������� 48.22 ������ =%��9�����
����
%����7���!T,�$��3�9��������$����� 63.91 ������ �6�%��
$�����G?��������-�
�-������
-���$����� -15.69 ������ =%�
��G
I�9�����%��!���4�
��,������6�7���!T,�
G�
�������
�������$�
��,����� G�
��!������
����
%$����$�������-�����%
-���$����� -0.82 ������ 
=%�
��G
I�9����$�����-����9���9�-��������$�������-9��.
���
�-����3��6$����� -21.82 ������ �6
;%�������$�����!���������-�����
�,�$����� 20.12 ������ G�
��!����$����$�%
���������%$�%
�
-���        
-76.84 ������=%�
��G
I�9����$����������4����
�,�$��
2������������7����6��
-���$����� -53.78 ������ 
��� �����$������9�3�$����� -22.08 ������ =%�������<��������<�����������
����
%
-����%��G����

���%������$����� -29.38  ������ 

 
 
$T���������7������� 
 

 
      
 !��
%��������2�� 
 
 
 
 
 
 (�������6 ���
?���H�
����g) 
                                                                   ����������34$�%���  
   
   
 


